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��	WXYZX[	\�	,�	]^YZ_`XaabX	Y^cbbc[ b̂	bZdeYc[ b̂	cfcgeZf	heYijX`a b̂	ck_ijlf	aX	_[YXbac[f[j	ieZkbX[j	*+,LLL-+L+	
cg�/	m]^YZXgb^a	^n	gje	o_ccbXa	bZdeYbXk	cfcgeZ	^n	=b b̀k	ceY b̀=e	^a	p[YXbabXa	kXahc	*+,LLL-+L+	=eag_Ybec/q�	reYa^dbk1	
���2�	3��	c�	��	WXYZX[	\�1	sj[bkab_[	t�	s ĝcbXkaX	cgY_[g_YX1	XhZbabcgYXgf`afb	gX	e[^a^Zb=jafb	Xcde[gf	Zbcg	, k̂fac[^b	
j_leYabb	*hY_jX	d k̂^`faX	+L+	-	d^=jXg^[	++	cg�/	ms^=bXk	cgY_=g_Ye1	XhZbabcgYXgb`e	Xah	e=^a^Zb=	Xcde=gc	^n	=bgbec	^n	
, k̂fa	dY^ b̀a=e	*ce=^ah	jXkn	^n	gje	+L+	E	eXYkf	++	=eag_Ybecq�	Z^a^jYXnbbX�	reYa^dbk�	ucXhgcX	v_�,�1	���<�	��2	c�	3�	
,fc^=jXbcje	_g`eYijheaafe	w^Y^h^`^e	d k̂^ijeabe�	�2	bf_afX	�A<�	x�	mybxjecg	XddY^`eh	zbgf	oex_kXgb^a�	{_ae	�21	
�A<�q�	| k̂a^e	c^lYXabe	iX[^a^ 	̀o^ccbbc[ b̂	 bZdeYbb�	s^lYXabe	�Ee�	s|l�1	�A<F�	r�FG�	ugh�	deY`^e�	H	FAF�A�	s�	A��-
A3��	F�	weccea	,�	\�	,^dY^cf	Zecga^x^	_dYX k̀eabfX	m}^=Xk	w^`eYaZeag	Lcc_ecq�	s|l�	rbd^Ekbg^xYXnbfX	~�	��	}XahX_1	
���F�	�F�	c�	G�	wYXZ ĝX	aX	dYX`X	b	`fx^hf	x^Y^hXZ	o^ccbbc[ b̂	bZdeYbb	m�bdk^ZX	^a	gje	Ybxjgc	Xah	leaenbgc	^n	=bgbec	^n	
gje	 o_ccbXa	 �ZdbYeq�	 | k̂a^e	 c^lYXabe	 iX[^a^ 	̀ o^ccbbc[ b̂	 bZdeYbb	 c	 �2F�	 x^hX�	 s|l��	 rbd^xYXnbfX	 LL	 ĝhekeabfX	
s^lcg`eaa b̂	 �x 	̂ LZdeYXg^Yc[^x^	 ,ekb=jecg`X	 [XagcekfXYbb1	 �A3��	 r�	 ++LL1	 �<AF-�<AA1	H	 �2�A<�	 s�	 3GA-3AF�	 2�	
�eYijX`afb	XY[jb 	̀, k̂fac[ b̂	^lkXcgb�	]�	3�	ud�	��	sdY�	���	GA	XY[�	<�	 L`Xcj=jea[ 	̂ L�	vX�	�bbXkabcg	�fb`c[ b̂	Zbc[ b̂	
h_Zf	*���<-����	YY�/	m~=gb b̀gf	^n	gje	�fb`	zbgf	�_ZX	*���<-����/q�	X g̀^YeneYXg	hfc�	R	[Xah�	bcg�	aX_[�	�<������	
�Lcg^YbbX	p[YXbaf�	�	��1	�����	�2	c�	A�	tXYh^`X	,�	~�	w^Y^hc[^e	cXZ^_dYX k̀eabe	 	̀o^ccbb	 	̀2�E[j	-	aX=jXke	��E[j	
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x^h^ 	̀+�+	 �̀	 |YX b̀gek�cg`eaaXfX	 d k̂bgb[X	 m\_ab=bdXk	 ceknEx^`eYaZeag	 ba	o_ccbX	 ba	 gje	 2�c	 E	 eXYkf	 ��c	 ^n	 gje	+L+	
=eag_Yf�	 w^`eYaZeag	 d k̂b=fq�	 }��	 tX_[X1	 ��AF�	 �2�	 c�	 ��	 tXYh^`X	 ,�	 ~�	 uYxXaf	 x^Y^hc[^x 	̂ cXZ^_dYX k̀eabfX	 `	
cbcgeZe	cXZ^heYijX`a^x 	̂XddXYXgX	 k̀Xcgb	 	̀[^agce	+�+	-	aX=jXke	++	 �̀	mrje	l^hbec	^n	=bgf	ceknEx^`eYaZeag	ba	gje	
cfcgeZ	 ^n	 X_g^=YXgb=	 d^�eY	 ba	 gje	 kXge	+L+	 E	 eXYkf	++	 =eag_Ybecq�	 oen^YZf	 bkb	 Ye` k̂f_gcbfXT	 o^ccbfX	 �A2�-���<�	
\XgeYbXkf	Zeijh_aXY�	[ k̂k^[ b̀_ZX	bcg^Yb[^ �̀	s|l��	tX_[X1	�����	s�	GG-G2�	���	u	dYbZeaeabb	w^Y^h^`^x 	̂d k̂^ijeabfX	
�2	bf_afX	�A<�	x^hX	 	̀x^Y^hX[j	�XdXhaf[j	x_leYabb�	��	XdYekfX	�A<G	x�	mua	Xddkb=Xgb^a	^n	gje	zbgf	oex_kXgb^a	^a	
{_ae	�21	�A<�	 ba	gje	=bgbec	 ^n	 gje	�ecgeYa	dY^ b̀a=ec�	~dYbk	��1	�A<Gq�	| k̂a^e	c^lYXabe	iX[^a^ 	̀o^ccbbc[ b̂	 bZdeYbb�	
s^lYXabe	 �Ee�	 s|l�1	 �A<G�	 r�G��	 ugh�	 deY`^e�	H	 GF2F��	 s�	 F2�-F2F�	 ���	 |Xijbga^ 	̀ ��	 ~�	 w^Y^hc[^e	 b	 ieZc[^e	
cXZ^_dYX k̀eabe	mzbgf	Xah	k^=Xk	ceknEx^`eYaZeagq�	s|l�	LihXabe	\�	L�	seZea^`X1	���3�	���	c�	���	| 	̂`^dY^c_	d^YfXh[X	
`fl^Y^ 	̀`	xkXcafe	x^Y^hc[b[j	h_Z	kbgc	ae[jYbcgbXac[^x 	̂`eY b̂cd^`ehXabfX�	G	ZXYgX	�AAG	x�	mua	gje	bcc_e	^n	gje	^YheY	
^n	 eke=gb^ac	 g 	̂ gje	 d_lkb=	 =^_a=bkc	 ^n	 a^aEzjYbcgbXa	 Yekbxb^ac�	\XY=j	 G1	 �AAGq�	 | k̂a^e	 c^lYXabe	 iX[^a^ 	̀ o^ccbbc[ b̂	
bZdeYbb�	s^lYXabe	3Ee�	s|l�1	�AA<�	r�2�	ugh�	deY`^e�	H	�<�FX�	s�	AA-A��	�3�	|Yfcj=jedX	u�	|�	oen^YZ_`XaabX	Zbc[^j^	
cXZ^_dYX k̀baabX	aX	, k̂fab	 iX	Zbc[fZ	d k̂^ijeaabXZ	�A<�	 Y��	 ^c^lkf`^cgb	 `dY^`XhijeaabX	 gX	 Yejb^aXkaX	 cdegcfnb[X	
moen^YZbax	 gje	 Z_ab=bdXk	 ceknEx^`eYaZeag	 ba	 , k̂jfabX	 X==^Yhbax	 g 	̂ gje	 =bgf	 Yex_kXgb^ac	 ^n	 �A<��	 de=_kbXYbgbec	 ^n	
bZdkeZeagXgb^a	Xah	Yexb^aXk	cde=bnb=bgfq�	tX_[^ b̀	iXdfc[f	pab`eYcfgeg_	ucgY^i[X	~[XheZbbX�	Lcg�	aX_[f�	ucgY^j�	paEg	
�ucgY^i[X	~[XheZbbX�	1	�����	,fd�	��	s�	���-����	�F�	rceagYXkafb	heYijX`afb	bcg^Yf=jafb	XY[jb 	̀p[YXbaf1	Z�	�fb`	
*hXkb	-	rc�L~�	p[YXbaf/�	]�	FF��	ud�	GF��	sdY�	�G�	G�	XY[�	�G�	rc�L~�	p[YXbaf�	]�	FF�	ud�	GF��	sdY�	F3�	23	XY[�	�2�	
rc�L~�	p[YXbaf�	]�	FF��	ud�	2�<�	sdY�	2G�	3A	XY[�	�<�	rc�L~�	p[YXbaf�	]�	FF��	ud�	��A�	sdY�	�3��	2�	XY[�	
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